ELCLE 2260
F11

HOMEWORK #7 prob 3 solution
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a) Draw the single-phase equivalent circuit.

b) Calculate Vya.



soln: a) This 3-phase circuit is already in
a Y- t:uh-J:jjurn'{-.i'.ﬂn- Thus, the
:&E-n?r!f- hase model {5 ohtained
by "adding a wire from n +o N,
(which has ne effect on the cirdui
since the veltages and lurreats in
a 3--Fhﬂst cire it sum 4o EEN}- Then
we use the added wire and Lhe
cahlbnﬂﬂn{':!l tn the ﬂ-—‘baﬁﬂ.sﬁ +o
c¢reate +he sinjfe—-‘,pflasﬂ model.
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Vo, = 120407V Zgy=j0.30
't[_}.ne_:: :‘ICI-E:I-IR

h\] VaA wn the ar[jiﬂq,'. circutt 13
cutgide of +he qenerator and
+he (oad. The.ne?of-t Vaa is the
same in the erigqinal circyit qnel
th +he Sinj Ladf:lqst medel.

In +the sinﬂl-&-phqse. m::nLE-L‘, Vaa
Ls ﬂive.n by o traH;qu-dipH.Er:

VaA = Vavyg,  Zline
iﬂlT +* Zline * Fuy

= 12040 V- 0.6
103 + 06430, (R
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